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— PET RIS 2T MY Wphw 9D
Everything which the poor gathered today should be Hefker

OVERVIEW

The X713 cites a ¥Xn™72 in which 777 7 and X017 " have a dispute how the owners
can prevent the poor people (who occasionally glean more than their allotment)
from eating produce which was not tithed. They both agree that the owners render
the produce gathered by the 01y to be P57 and 2577 is exempted from Wyn.
Their dispute is whether it is made 9577 (in the morning) before the 071y gather it,
or (at night) after the o»1v gathered it.' mpoIn discusses the need and the efficacy
of this 2po1.

- 20995 /) 1139 D91 1NN POPINY TUYNN 13 DIVIDY DY AYIY NIPN
X017 " (and A7 M) is providing a remedy for the poor to exempt them from
tithing when they gather more than their allotment, for instance when they

gathered three stalks or more -
- AUPNN N DINV NN ANIY VPV %Y >Wn XY 1PN

And they eat them without tithing, since 1821 oW wph are exempt from

tithing, and these 01y mistakenly assume that they are eating vp?, when in fact it is Wwyn2 27N

since it is not VPY -
- AUPNN NV IPONT AWNN Y9N MOV $13 999N NN PV 53 13N H¥a WX 2

Therefore the owner states, ‘whatever they have gathered should be 27577, in
order that everything which they gathered (even three or more stalks) should be
exempt from wy», since P57 is exempt from wyn.

N90IN comments:
- “UNMNN PN 1320 YT MY 798

And it is necessary to assume that the owner does not abandon these fallen stalks

which are not legally vp? -
= NPT 29995 120 HYT1N YIN? 2PVUNI YNNI NN ONT

For if we assume that the owner was @R n» and furthermore we will assume that

" The xm3 (in different versions) attributes each view to both disputants.
? The rule regarding vp> is that the 01w may gather if only one or two stalks of grain fell from the sickle, but not if
three or more fell, for then all the three (or more) belong to the owner.
? See “Thinking it over’ # 1.
* Even though he is aware of the possibility that the 01y will gather three or more stalks (and 2°9v2 ¥X> 72°33 OND),
nevertheless the owner is not wX*nn.
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it is considered ny7» 2 like the windblown dates’ -
- UYNN I 19VIDY 1PN DI NN N9 NWPN 53D 215 YINY YINT JNDY )9 ON)

So if we make this assumption, then according to the one who maintains that
wIN> alone acquires, there is the difficulty, what will the 92577 accomplish to

exempt it from wyn -
= TWIND 215 Y YT H9INA 0% )N 19T 929 KM

For did not the 21y already acquire this 'vp', through stealing it, since there

was WIN3. Therefore we must assume that the owner was not wX>n and the 01y did not acquire
it, therefore it still belongs to the owner and he can be 7°pon it.%

Moo anticipates a difficulty in the reverse:’
= YUYPNN 119 19DI9Y 375 YPPONY 198 NNY WNRMHN 522N Hya OX MYPNY PN AT 170)

However we cannot ask as follows; if the owner was wx>"», why is it necessary

for the owners to be 9°22% in order to exempt the produce from tithing -
- (3,59 71 s Na2) AMNONM 1IN N CAwpnn 11 190195 999N NI 1WA YIRS K9

For is not N> considered as 9pp77 that ¥R can also exempt from wy» as is
evident in MR R P19?! This seemingly proves that the owners were not wx."?

mooin asks an additional question:
- WINOD Y99 91 YONRT PNnby 99199 PLHY YD DI XY NNILT I

> See X171 71"710 2,70 TIE footnote # 8. We will need to distinguish between the M2 of *¥21 275 which Mmoo there

states (see TIE there footnote # 9) are not considered ny7» WX (since no one has the right to pick those n17°s, the

owner is not wX»n), and the case here by vp, which is considered ny71 WX (since the 01y have the right to gather

two D°22w, the owner realizes that it is highly probable that they will gather more).

6 See X,10 where 7727 rules *1p VX,

7 Once the o1 acquired it (913 NMN2), it is theirs to the extent that the owner cannot be 7°pon it any more. They will

therefore be eating it Mo°X2 without tithing. See ‘Thinking it over’ # 2.

® This issue is relevant only if the owner states 1w 93 (since he is 1°pon it after it came into the possession of the

o»1v). However if the owners say Wwp?w 93, it is irrelevant whether the owner is WX or not, since the owner is

°pon it while it is still in his possession.

? moon just said that we cannot say the o°va were wx for then the owners cannot be 7°pon it since the 0w

already required it. Now moown will negate another possible explanation why we cannot say that the 0°7va were

wRMN.

' This seemingly proves that the owners were not wX»» and therefore they need to be 9°po» it (in order i 1vBY

qwyni); however if they were wX»n there is seemingly no need to be Wy»: 12 1MVID? 1poN.

' The xn»"2 there states that if one finds figs on the side of the road (under a fig tree whose branches extended over

the road), he may eat them and they are 7105 from Wwyn, since the owners are certainly wX>n». This proves that ¥

exempts from wyn (like 7p57).

"2 This ‘proof’ (that the owners were not wx) would (seemingly) be valid according to both opinions. See footnote

# 8. This may be why nv01n discusses this additional ‘proof’.

"> The xn™92 cites a NP> whether the owner says 1p9w 95 (in the past) or Yp%w 93 (in the future). Seemingly the

reason of the one who requires Yp?w 73 is that once it was gathered it is no more in the Mm@~ of the owner and he
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And additionally, why should the statement of "wpbw %2' (whatever was
gathered), not be effective according to everyone, is then 7757 inferior to
2IRS?!

mooIn answers and distinguishes between the WX in "2 and the ¥R here:'*
- INONNT VINYD “wn 1) NINT WINY 9T XD NNIY

For the 2 X" here regarding robbers is not comparable to the 2R by a N>x» -
- uiNe NYWA 19130 MYIL NN PN ON 1IN 19IY 993 23D WING INT

For if we assume that >1p wIX by a 171 in any event, even if the stolen item is

not in the possession of the 1713 at the time of wINY; if we assume this —
= AUPNN I VY 1Y PRI NPV N3NNI 31 TN 9959 NIN 1 KY XINT WIN? )9 ON

It follows that the 28> here (by the 0»1v, which is 1) is directed only to the *1v
(who is stealing the vpY), so it is like the owner is just granting the 1y a present,

and therefore he cannot be exempt from 2wy, This explains the difference between
the two types of W if we assume that "1y 932 °1p WX,

M50 continues:
= 19N NIV NDINN 19 ON RIN 2P RDYT 91990 RYHN ON 1729N)

And even if you will assume that the 157 does not acquire it with v x>, unless

the ;713 is T2Tam =2 -
- 393 N9t 13 9rtNNA Y YING NYVA 02290 MY NN BN YaN

cannot be 7pon it (see however anod 7"7 &,y nvoIN). However by x> we find that it is effective even though it is
not in the MW" of the owner; Mo question is, if WX is effective even though it is \Mw12a X7w then P (which is
stronger than vX>) should certainly be effective even though it is not 1mw"2. See ‘Thinking it over’ # 3.
' mooin will answer the first question that we cannot prove that the owners were not wx™» since we require a o7
and the second question why is not 7poi7 effective since WX’ is effective, by distinguishing between the v here
(which is not effective) and the wIX* by 7%"x¥n (which is effective).
' Here, the 0™y if they take more than their allotment they are 0°1%1; he is WX™» because he assumes they will steal
it. There in 2"2 he found something (a fig) which the owner was WX from since he realizes that when the mixn falls
it will splatter and be unfit to eat, therefore the one who finds it may eat it 771137 because the owner was wx>n.
16 This means that if when the owner was wWx™ it was not 12137 NWwN2 nevertheless the 1713 acquires it. This also
means that no one else can acquire it then, for if anyone can acquire it why does the 1713 acquire it, it belongs to
whoever takes it. The only way to explain why the 1713 acquires it and no one else, is because, as M0N0 continues to
say that it is considered as if the owner is granting it to the 7213 with this wX°. See following footnote # 17.
' The rule of wX° regarding a 127 is that the 113 need not return the item he stole (but nevertheless he needs to pay
for the item). We are now assuming that this wiX° is directed towards the 1213 exclusively and no one else has a right
to this object (see previous footnote # 16). Therefore it is not like 7577 which is accessible to everyone. This type of
wIX* does not exempt from Wwyn. However by nX°¥n the owner is WX™» in a manner that it is available to all (see
footnote # 15), anyone may keep the fig; which is similar to 757 and therefore by AR*¥1nT WX it is Wy MWVA.
'8 The w is for all, so if it is 7";172 whoever acquires it then keeps it, if at the point of W it is 17137 N2 the 1712
acquires it (he may keep the item but still needs to pay for it), but he has no inherent advantage over anyone else.
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But if it is 2''7792 at the time of wIXs the rule is, whoever possesses it acquires it;

which makes it similar to 7pa77 (for it belongs to all) -
- 293 19t na 95t 591 595 235 KY 519 WIND ININT INNDY M) N

Or even if we will assume as the one who maintains 2R8> alone is not 723 at all

for the 213, in which case the rule will be, that whoever possesses it acquires it,
just like 957, so one may assume this the type of WIR> is WYNI 11 0W —

However n1501n negates this:
= YUYPNN I VIO YIN? NT PN DIPN YN

Nevertheless this is not the w8® which exempts from wyn.

mooIn explains:
= (3,007 71 10p%) RN HTINNA 1992RTI WINS 9NN N2 POINNN 12 AN 5199 PN DT 917

For granted that the 9131 (the owner from whom it was stolen) cannot claim this
stolen item from the person (not the 7713) who possessed it after 28>, as X707 21

stated in X202 ®1357 PO -
= 7125 N1 N NN NN NN IYANY NN N2 DIIYAN IWNINI XY 51 NTT

For it is specifically in a case where an item was stolen and the owners were not
wr>n, and another person came and destroyed this item, it is then X701 27 ruled
that the owner can collect from this (first) one if he wants to, and if he wants he

can collect from this (second) one; this is only if it was destroyed before wIX> -
- M53wn 1 0195 MAIY 9199 PR WINY NN YaN

However if it was destroyed after wR>, the owner cannot collect anything from

the second person who destroyed the item. Therefore in these cases where anyone can acquire
this item after ¥IX°, one may think that such a ¥X> exempts from Wwyn —

mooIn rejects this:
- 2990 13 90999 153D NN NINY 23910 NA PIINNY MONR DN DIV 1195 DIPN Yon

Nevertheless since everyone is prohibited from possessing this stolen item,
since the robber needs it to absolve himself from repaying the %131 -

' This means that if a third party took possession of the 7213 from the 1273, after the 1713 stole it (and there was @
o'9v3), he gets to keep it. In this case the *1n is (somewhat) similar to one who found an 77°a after wIX>.
%% One may then (mistakenly) argue that according to these views, W is like 771 and wymn Tws.
't is therefore seemingly apparent that this wix® is like 7p977, since anyone can take it and not be obligated to return
it to the original owner. One would then perhaps assume that this type of @ by 72°1 is sufficient to exempt from
wyn. However, maoin negates this.
2 If the stolen item is by the 1573, he can use it to pay back the owner, however if someone takes it away, it causes a
loss to the 1713, that now he must pay from his own pocket. Therefore it is forbidden to take it from the 7212
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=199 0T OHYWY 29N MNON HYIY INN NA NOT 925 ON)
And furthermore even if someone acquired this stolen item (and he destroyed it)

he is obligated to pay money to the 1913 -
- PUNT 2339 199 BYYY 23W 232 2950 339 XY WINY ININT INNPY 199987 9ryh nnts

As the ¥n™12 stated previously, that even according to the one who maintains
1P R wINY, nevertheless the second 213 is obligated to pay the principal to the

first 213, therefore, on account of this (that one is not permitted from possessing this item, and
one is obligated to pay the 1213, therefore) this type of W -
= AUYNN I NVIY 1P9ND YN NY

is not considered 9p277 in order to exempt him from =wwn, as Mmoo explains
shortly.

mooIn explains why this factual difference is relevant regarding the wynn 7105:
- zs_m” AYNN PHN Y PPN 3 MYN NI #251157 DIWN 4wyNn 12 IV IPANT RIYVT

For the reason 2ps:7 is awyn»i7 12 Mwp is because it is written, ‘and the "% shall

come since he has no share or inheritance with you’ and he shall eat the “wyn -
- 99977 NNPYY 199 1Y NN PN 1Y YWY INDY NNIYI DPY RYY

This excludes mnsw wp» and 785, which the "% also has a share in it with you,

and the same reasoning applies to 9577, since the "2 has a share in the qp57, there is no
2717 to tithe the 51 -
- 07 7NN YaY BYWY 25N N1 ON) Na MY MONXY N2 PYN 1Y PN XM

And here (by the v of 79°1) the "% has not share in this item, for it is
forbidden to acquire it and if he acquired it, he has to at least pay its value.

mooin offers an (entirely) different answer:
= DY 220D NIN UN»HN PR NHNDAT )

And furthermore, presumably the owner is @& from this vpP% only regarding

the 2%1¥ (who he assumes will gather it regardless); however he is not wX™ from the o wy;
he does not assume they will take it -

1A0IYI DIPYYY) DIYY 9PN NINOY 1Y TUINN 1 NVAY D3N PNY
Therefore this limited type of v is not effective awwn» 32 7w, unless it is a
a7 for both 21y and 2wy like w»w which is 2po7 for all.

= x,n0. If it we assume that *3p wIX> then the *1w 2313 is required to pay 293 to the WX 213 (and certainly the 17p);
however even if we maintain 17 R? WX, nevertheless the *12 213 must pay (only) the 199 to the 1wR 213,
193,73 (7%7) 01T
» We derive from this that one gives wvn to the "> from produce which the "9 has no share in it; that which
belongs to the owner.
%6 The 1 is permitted to gather X1 7MW vPY.
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SUMMARY

The owners are 7°pon the (additional) vp% in order to prevent the 0™y from
transgressing the Mo°X of "W wn °n%a. This is effective (according to the wWIR> 7"n
71p), only if the owners were not WX 1. The wX> which is a result of 77°2X exempts
1t from Wy, but not the 79°T DN LIRS,

THINKING IT OVER

1. mooIn writes that the reason the owners are 7°pon the vPY is in order they should
not eat Twyn X22.”” Why did not mooIn say that they were 2°pon it in order the o™iy
should not be 121w on 7213 MoK 21>

2. mvo1n claims that we need to assume that the owners were not wX>n, for if they
were wX™, how could the make it (\opbw Tnx?) 1pon.>’ Previously noon stated™
regarding n°y>aw M9, that the seller can redeem them for the 0251 removed them
from the mwA of the buyer, so that he should not transgress n°¥aw Mo°X. Why do
we not say the same thing regarding M17wyn that the 2’131 removed them from the
gatherers so that the owner can be 7°pon them and thus prevent the gatherers from
the MoK of Twwn K.’

3. moon asks why does not everyone agree to Wp?w 22 (even though it is then Xow
1mw2), for since WX° is effective even when it is \mWwa2 9w, so o which is
more powerful that wX* should certainly be effective by w12 X>w.>* Seemingly
WX is effective 1mwna X5w (by an 717°2X) only before it came into the MM of an
individual (it was in a 7"77); however once it came into someone’s MW before
vIX°, the WIX° 1s not effective and he is responsible to return it to the owner. In our
case if he says Wwphw 3, the grain is already in the mwA of the 01y so WX and
7511 cannot be effective. What is 19010 question?!

7 See footnote # 3.
2 See 210 NIX D1 ' WA,
¥ See footnote # 7.
3% %37 7"7 'o1n 2,70 TIE footnote # 39 .
3 See w"w.
32 See footnote # 13.
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